
i.50

e.50
 

i.50

32 

50
 

 290 

GP DUALS silencer superior
Cod.3015100481

GP DUALS silencer inferior
stainless steel
Cod.3015100482

3x Short helical 
spring tensile
cod. 303949001

S.s. black bracket
Purch.Cod. 206337
Prod. Cod.3015101501

OPTIONAL
cod.5683

M12x1.25

Welded bushing
cod.207038

S.s. flange 25B
cod.200560

Header Pipe
cod. 3015127201

Allen screw M8X25
T.C.E.I.Z.B.
Cod.200314

Plain washer 
8x 24

Cod.200321

2x Knurled collar screw 
M8X16 T.E
Cod.206008

4x Knurled collar screw 
M6X16 T.E
Cod.204985

2x Graphite Gasket 
Cod.204980 

Aluminium black bracket
Purch.Cod. 207039 
Prod. Cod.3015127501

2x Allen screw M6X14
T.B.E.I
Cod.204643

2x Plain washer 
6x 14

Cod.205833

4X Graphite gasket  
Cod.206367

2x Mounting
plate M6 Z.B.
Cod.204664

Mounting
plate M5 Z.B.
Cod.204555

Link Pipe s.s.
cod. 3015127205

TO FIT 
THE ORIGINAL COVER

O
RIG

INAL HEAT SHIELD

2xDb-Killer 25
Cod.303457802

32 
37 

43 

26,9 
24,7  2

,5
 

 1
0 

 7
 

 3
 

39 

 60,5 

 81 

45
 

 8
,5

 

 12,5 

 R10,25 

ART. 15127

FANTIC MOTOR CABALLERO 125 SCRAMBLER / FLAT TRACK 

FULL SYSTEM - GP-DUALS - STAINLESS STEEL 


	DT-15127
	Vista del disegno4
	Vista del disegno5
	Vista del disegno12
	Vista del disegno13


